Efficiency vs Dxy(PV)
0.5

0.45]
o 0.4
20.35
0.3]
0.25]
0.2
0.15]
0.1

vs dxy(PV)

efficien:

0.05

Ratio

5 10 15 20
TP dxy(PV) (cm)

—=— DQM_original_step2_ttbar-phasel-newgeom

—— DQM_pixelCPETemplate_step2_ttbar-phasel-newgeom

—— DQM_pixelCPETemplateCutChiSquare5_step2_tthar-phasel-newgeom

| Efficienc] —— DQM_pixelCPETemplateCutChiSquare5_step2_ttbar-phasel-newgeom_test

i
T
)

Sy
]

0.8]

efficiency vs dxy(PV)

0.6}

Ratio

-0.8-0.6 -0.4 -0.2 0.2 04 06 0.8
TP dxy(PV) (cm)

Efficiency vs Dz(PV)
90.0

%018
kel
D.016F
> E
D.014F : : , : :
k] E
&.012F--- -+ e Beeseedleaay e [ERRE
) E
0.01F
0.008F
0.006fF-- - - e Borseedeeenes e FEREES
0.004F
0.002]

Ratio

=30 -20 -10 0 10 20 30
TP dz(PV) (cm)

.OF

0.5 1
TP dz(PV) (cm)



	Contents
	Page 1


